ol 1 A student sets up the below circuit.

30 ) ®

ol 1 _ 1 Calculate the reading on the ammeter.
Current = A
[2 marks]
ol 1 _ 2 Calculate the charge that flows through the bulb in two-and-a-half
minutes.
Charge = C
[3 marks]
ol 1 _ 3 A second bulb, identical to the first, is added to the circuit between the
first bulb and the ammeter.

Describe and explain the effect that this will have on the ammeter
reading.

[2 marks]
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ol 2 The reading on the ammeter in the below circuit is observed to remain at

1.5 A over a period of four minutes.

ol 2 _ 1 Calculate the charge that flows through the variable resistor in this time.
Charge = C
[2 marks]
ol 2 _ 2 The p.d. across the variable resistor is measured to be 6 V.
Show that its resistance is 4 Q.

[1 mark]

ol 2 _ 3 The resistance of the variable resistor is then increased by 50%.

Calculate the new reading on the ammeter.

[3 marks]
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